3.  Consider data from a study looking at infants born with one of three types of heart defects (0 = normal baby, 1 = heart defect) and the body mass index of the mother (0 = 15-50 percentile; 1 = 75-85 percentile; 2 = 86-95 percentile; 3 = 95+ percentile) around the time of conception:

	Birth Defect
	Mother’s Body Mass Index

	0
	0

	1
	2

	1
	0

	0
	1

	1
	3

	1
	3

	0
	0

	1
	0

	1
	2

	0
	2

	1
	1

	1
	3

	0
	0

	0
	3

	1
	2

	0
	0

	1
	2

	1,1 (non-identical twins)
	3

	0
	1

	0
	0

	1
	3


a)  
After characterizing the data, choose an appropriate analysis that tests whether there is any 
relationship between a mother’s BMI around conception and an infant subsequently having one 
of these heart defects.  Be sure to state the null hypothesis you are testing.  Use p < 0.05.  What 
do you conclude?  What do you conclude overall?  

